=
<

(0 @) (rad)

-
v

Ratio
P
N

iy

[
i
IRARENRERRERERE]

-+ .
R N 0 e

=
iN

1

2 3
TPlpoT (PCA t%obeamlinélf)

Ratio

a(d cot(d))

iy

0.8

0.6

[ [ S 4 E

10

—s=— DQM_V0001_R000000001__Global__mkFitbase_ RECO
—— DQM_V0001_R000000001__Global__CMSSW_X_Y_Z__RECO

SICEWATL

T - | % .
Ao| R Babad Y H L
<

o107k
© 14
x
1.2
1
10t
n=
o
-
o
o
2
o

I
[N}
T T T T

[y
o
I8

) 2 3
TPl[:g)T (PCA t%)obeamlin%)o

oo a,) (cm)

Ratio

z

107}

1072

1.05

0.95

iy
TITT[ T TTTT TTeT

T+

0.9

1

o
N

TPl[:?T

2 3
(PCA tjbobeamliné'f)



	Contents
	Page 1


